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O a-"mA=R

b =3.14

print(type(100)) <class 'int'> 8B
print(type(a)) <class 'str'> X 5B
print(type(b)) <class 'float'> =#HE
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<class 'int'>
print(type(100)) K

| <class 'str'>
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print(type(a)) <class 'float'>

print(type(b)) MEE3.14TT.
C = ZZEEBEZD
print(c)
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O a-"mA=R
b =3.14
print(type(100))
print(type(a))
print(type(b))
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b =3.14
print(type(100))
print(type(a))
print(type(b))

<class 'int'> B R FY
<class 'str'> XF5|8Y
<class 'float'> E#HE
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<class 'int'>
<class 'str'>
<class 'float'>
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c =a + str(b) + "TT,"

print(c)
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O text = "#EE.
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kekka = @-%£z5

print(kekka)
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© text = "BER. #HR)IE, KRB, TER HER"
print( len(text) )

kekka = "§#[FE" in text

print(kekka)
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@ cmZinchlZZE#T BIZI1E. cmDEEIZ0.3937Z%#HMNTFET,

© 2 = input("EEZEcmEAALTEEN, ")
b = CZEEZD

print(b)
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@ cmZinchlZEH T BIZI1E. cmDEEIZ0.3937% 8 TFET,

© 2 = input("EEZEcmEAALTEEN, ")
b = float(a) * 0.3937

print(b)
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@ QaniZHDIALDERHERTLTLEELY,
@ QaniZHD)ARNMIIX) 2 1ELOSDXFFINEENTLY
f=oTrueEFRRLTL=ELY,
O ni-['E', "K', ", )

ani| @®ccxEz3
print(ani)

print @%:i:f )

kekka = QZEEZS
print(kekka)
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@ QaniZHD) AFDEFRHERTLTLIESLY,
@ Q@ aniZHD)ARRIIF) 2 1ELVOHXEFINEENTLY
f=5True&TRRL TLI=ELY,
° ani = ["EB", "R", "#&", "N5"]
ani += ["FU2"] « ani.append("+>")
print(ani) <4,0K

print(len(ani))

kekka = "FU>" in ani

print(kekka)
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@ @ kudamonoZEH D) ALzZ A+ EFIETIHEAREZ T
Sy,

° kudamono = ["&#MA", "VAZ", "ARED", "FL V1]
b = DZZZEEZ5
print(b)

QZZEEZD
print(kudamono)
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=LY,

° kudamono = ["&MA", "VAZ", "ARED", "FLvp"]
b = kudamono[1:3]
print(b)

kudamono.sort()
print(kudamono)
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° person —_ {Ilg-ﬁ-ﬁll: ll%*_ﬁl}ll’ II%EII: 180, llmzll

print(| @®zczzzz |)

s | DEZ

: 65}

bmi = QZ%xEz5

print(bmi)
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EoTBMIZETREL TLEESLY,
2 BMI=fAE + H&K(m)?

° person — {ng-ﬁ-ﬁn: ll&%*_ﬁl}ll, II%EII: 180, u{$§n: 65}
print( person["%&1"] )

bmi = person["{&E"] / (person["&&"] / 100) ** 2
print(bmi)
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© QinputBBITAANINT"0"F =T 172 BT L TS,
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@ BMI={KE + HE(m)2
o QIEZEISADBMI = TBMIDETEHKR] ERTRLTEEY,

© persons = [
{ng-ﬁfjn: "LLIEKEB", ugﬁu: 175’ llﬁE": 80},
{"&B0": “ERTETF", "HR" 165, "4E": 45}
]
n = input("0FA&IX1ZADLTESN, ")
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© BMI=fAZF - BE(m)?
o QIZHIIESAMBMI = IBMIDOHERER | LRTLTESLY,

° persons = [
{Il%-ﬁ-ﬁll: "LLIEKEB", IIEEII: 175, llﬁE": 80}’

{"&AT": EBETETF", "BR": 165, "&KE" 45}

]
n = input("0FAX1EZADLTEENN, ")

n = int(n) #NEXLFI Mo REITEE K
bmi = persons[n]["&E"] / (persons[n]["&E"] / 100) ** 2
print( persons[n]["%&&]"] + "SAMBMI = " + str(bmi) )
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° ken — [uﬁﬂ]l;ﬂn, ||m§g,\u, umﬁ}”,\u’ "Eﬁlﬂt"]

name = input("#RERICEHET SEERTRIE?")

if ZCEEZRD
print("EHELTWET . ")

else:
print("BEELTOEH A, ")
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° ken — ["ﬁ%ﬂ,\", nu-I?'g,\u, ll@%}”,\ll’ "Eﬁl;ﬁn]

name = input("#RERICEHET SEERTRIE?")

If name in ken:
print("BELTVVET, ")
else:
print("BEL TOWEE A, ")
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© import random #ELBELERTBES 1)

kazu = random.randint(0, 10)

#OP510DBHDEL K ZE AR

[ BBYBLOEZHTTrueZIEE T dLbreak

I ROFETHRYRLBITET ]

while True: \
n = input("OMS10DEHFELHTTTEN ")
n = int(n)
if ZZEEZD

print("IEF T3 ")

break

elif

CCEEZD

print("boERENEKTT ., ")

else:

print("&o& /NS T, ")

OB 10DEFEHTTTFE 5
HoENSNETT,
OMS10DMFEHTTTEL, 2
IFfETY!

#1E L 7=bbreak 3 TwhileD#gVIRL ZR(T5
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© import random #ELBELERTBES 1)
kazu = random.randint(0, 10) #0»510DEEDELE AL
[ BRYBLOEHTTrue® 5 ETétbreak]
while True: \ I AHETHRYRLEEITET
n = input("0OMS10DEFEHTTTFEL ")
n = int(n)
if n == kazu:
print("IEf#TI!")
break #IEfEL 7=5break3 TwhileDigURL #1115
elif n < kazu:
print("boERENHKTT ., ")
else:
print("Ho&/NSNETT, ")
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© num-=11,2 3, 4 5]
for DIZEEZD
print(n, "M2FIL", n ** 2) #FHRRUWTBHERITAELTIITTHATES

for QZZEEZ5
print(n, "M2F(L", n ** 2)
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° num = [1, 2, 3, 4, 5]

for n in num:
print(n, "M2%F(L", n ** 2) #A XYV TBELITHELTIITTHATES

for n in range(1, 20):
print(n, "M2F(L", n ** 2)
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